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EEN 205 — Electric Circuit AR

Exam 1 — April 8, 2010 5\ £

Exam Duration: 60 minutes \/

Student Name:

Section:

Student ID No.:

Note:

You have 7 problems, 8 pages Exam including the first page.

No cell phones are allowed in the exam room

All questions should be answered on the space below each question.
All answers are to be explained in detail.

Reverse side of each paper sheet is to be used for scratch paper.
Illegible answers may not be graded.

Underline intermediate answers and [box your final answeﬂ.
Penalty will be applied to any student who fails to submit the Exam in full to the
instructor within 15 seconds of the announcement of the end of the exam.
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1. (15 points) Find the Current I Supplied by the 50-V Source.
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2. (5 points) What is L, of the Network as seen by each source v, and ,?

0.4 mH
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3. (15 points) Compute the Current in the 23Q resistor by applying the superposition principle.
Show all work including equivalent Circuits.
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4. Find the Source voltage Vg that result in power of P = 3W in the 30 resistor
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5. (20 points) Under normal condition the fuses F1 and F2 in the circuit below are modeled
as a short circuit. However, if excess current flows through a fuse, its element melt and
the fuse blows.

Determine, using KVL and a mesh analysis, the voltages across R4, R5, and R, under

normal conditions.V; = V; = 115V, R; = 10,R; = R; = 5Q, R, = R; = 200mQ
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6. (20 points) Find the Thevenin equivalent circuit resistance seen by Rj in the circuit
below. Compute the Thevenin voltage and the Norton Current when Rj is the load.

) Use traoR omodogts
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7. (10 points) Find the Norton equivalent Circuit.
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